Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0 -= -= -= -=
18X @ 3.40 THRU

18X\ 6.30 3 5X FEX-M3 Inserts 8X ¢ 3.5 THRU

Install from this side

254.0

B
4X 24500 —— ) / @ ©

° o— S 215.91
| 214.64
2X 168.85 © © o o 2X 163.84
2X 155.85 / \ © ©
4X SO-M3-67! Inserts 2X131.85 © ©
Install from other side
2X 10330 |y A 0 °
2X 96.85 S o o 2X 91.79
2X 84.85 / t © ©
/ 2X 69.00
2X 59.00 ——————f—9__¢ °
(V) o o 2X 25.75 <
6 . © o o o 16.00

2% 5000 ——||°

o
\ 0
o
S
<
N

°83883838 8 8 8288 aA3y 888 3
SNEBSS 8- A B SEEsR3fagA  S3db
Soas 8 { S } 5% 5
BREAK ALL
SHARP EDGES DRAWN BY . . .
SINNEMA | 7/18/14 Sinnema DeS|gn Services
Notes: MATERIAL seth.sinnema@gmail.com
See Notes Phone: (303) 250-8218
1. Material: RoHS compliant 12AWG (.08") Aluminum UNLESS OTHERWISE SPECIFIED Fax: 1-267-393-7872
DIMENSIONS ARE IN MILLIMETERS. | ) =
2. Break all sharp edges prior to powder coat. TOLERANCES ARE: . .
Mask all threads prior fo powder coat. DECIMALS ANGLES Leﬂ' P|O'|'e' MINI
X+.75 X°£1°
3. Partis to be powder coated with Cardinal color C241-BK109. XX .25 SIZE | DWG NO. REV.
Thickness of coating must not exceed 0.08mm. o] 63 A PP-FPO055 D
nk mark in area indicated with first initial of your company name EI'T_E?TKR?DCI;UESS :8855//:8228 SCALE 1.5 DO NOT SCALE DRAWING | SHEET 10F3

A



Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0

o e} o o

o v S N oo
g9< o N o < N O
>0 — N o~ 0 1y O
oo —A D — — REENLEN

2XR10.0
2X 45.0
3300
f
© O 20.0
‘ ‘ ! 2X 9.00
! o o 3X 8.00
0
3X FEX-M3 Inserts
4X ©3.40 THRU Install from other side
AX N/ ©6.30
SECTION B-B
o X9} o o
o Yo} (@) N O OO
goc S o~ < N o
5Ow o o N o 4X ¢ 3.40 THRU B®d
/ AXN\ ©6.30 K
0 > )
3X 8.00
2X 9.00 O\ )
20.0 J@ 3X FEX-M3 Inserts ©
2X 33.00 - Install from other side
92X 45.0 2X R10.0

SECTION A-A

TITLE
SIZE | DWG NO.
A

SCALE .4

Left Plate, Mini

PP-FPO055
DO NOT SCALE DRAWING  SHEET

20F3

REV.



Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0

FH-M3-10ZI Insert
Install from this side

(@] o o (@] (@]
o o ~ S s S ~
[oe] N N [0} — o~ ™
o — < — — N N (42}
0 \ H 0
¢‘ ¢‘¢ ¢
) 2X 20.0
/7 N\ o
% N 30.0
550 ——4 % 54.0
\___J
65.0
[o] [+
8XR10.0/
o ¢
o
‘
o ¢
¢ ¢ | 4XR6O
o/ 214.0
¢ o ¢ o

TITLE

Left Plate, Mini
SIZE DWG NO.

A PP-FPO0O55
SCALE 1.3 | DO NOTSCALE DRAWING  SHEET

30F3

REV.



	SHEET 1
	Drawing View1
	Drawing View2

	Sheet1
	Section View B-B
	Section View A-A

	Sheet2
	Drawing View7


